\
\

L/ / e
| C LD jahed

s of sclanc

fia-ana SWH sectin

PRI NLNNURIURTUATUNS

=9 o
AUZIAFNINTTUFARRD
mMsgaunavnta Usyannatanisdnmni 2 fln1sénir 2550
Fuvi 27 §unau 2550 Va0 13.30-36.30 u.
920 215-221, 216-221 Engineering Mechanics II Room A401

dagauiviouus 4 da Divindausaviafiavuuuivingu
ayaaliiiaTavAnLRuLiNiasRaY
vinuduadnsailaaluviavday

I

Widnuda-gna, uasswaindnmavludaszauynniin

nasalunmssay Inndusilluanlusiodaiiu

HAZWANISHAU 1 Aan1s@dntn

Hafl Aruuuldin | Azuuuiile

t 15 15 |

2 15 15

3 15 15

4 15 '

i 15 a9, 35van suund (01)
51 60(20%) | ﬂ)a/ a.1u8m #iaygy (02)
(Haaniasay)

1/6



fa-ana W section

1. I/IMVUIALAIANNEY () 2avIa 150 kg Tuusaznsel.
asel (i) fana 200 kg indeliindaudi
nsel (i) Mfademuussauravindnimiin 200 kg uivinlvitnfaudi

v " \ \
1.1) ausouavna 150 kg viv 2 nsaluinanvinAuln? 3

1.2) uayly common sense aSuNEUANA Case | FARMIATNHTIIA0 NN

(as€ii MaNIA MLy o LeIu3

(i)
: Y
i 20000.81) N
F =200 (4%)
> >
WNUW NH 2 NOW ra
i 150G
2008 - 1509 < (200+150) 3 SE=ma
g = 50048 200(9.51) -150(9.81) = 150
350
2 a = 3.2% Vn\Sz'
3 = 140 mls
Answer 2
Case (i) a= 1.40 l'ﬂlS

g ¥,
Case (i) a=_3.2% ™IS
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2. sawa m kg gmisanlitadauavannngaiior A Tasiadaufiasauduiaeiaf - Tauiisad
usonTTVinANUazinzassauasAusatulATasnusdesfidraft (T)

2.1)  aomnadnsuhhuassafidunis B (ve), Uae

2.2)  aswmnzuwiavasusaliaseidunsevin (Na).

[Hint: dAimau azaglugleas T, g, r, m Wity way Lidausoaanu ]

FbD £
)
Q
\>ma“’

Wt th -'-mat

T+ mcacose ¢ M3

W2
j(_Tn’\ 1Lgc()se)r“c:\e dy =L +qo050 ¥
m
0 . V=0
2
¥ : (re +c3rsine) i * ¢
2 m o
2 ds
2 m
¥y = J‘R’In_:_',.zgr‘
22) g ZF :map = My’
| 4
No-mq =M [ TP 9qF
2 B R

Ng = (T +gmc3) +mQ

NB = ‘Irr+3m5 #
3/6



fia-sna sWa sectin

3. The 2 kg collar is given a downward velocity of 4 m/s when it is at A. If the spring has
an unstretched length of 1 m and a stiffness of k= 30 N/m, determine the veloci'y of the

collar at s=1m. [liABounaswdoouviniu]

i im XO: im
/@
4U’$J A B
[
$=qm
k=30 Nfm
Bl o = e DRIIA A am B
iml
-\ 0 Cm

Ta*Va *Z)‘{Hc * TatVe
1Y mahe sikn? = Ly s dkg-
5 A %A- 2kA P C 2kxc
2 P 9 2
A4 + 2099 AT 1 (30) [N5-1]
14 q 31+%(30)[2 1] )gmvwz )

#

ved]

4/6



fa-ana WA section

4, wa 2 kg gnildasainvaatoft A uarloassuamuuviedonl mnddulssnia nulon

yuaatstnivianduuvieifanviadu 0.4, aam
4.1)  wueuaIANNL uaving M LRI R IR KRR TR
4.2) Awmszuzmainnfigauasdilze

[Hint: mvuanfaidurien]

A1) WNIDN N ASB

i B dwewn Datum

T - hox W
h:0,55N60" R Ta*tVa* ZUgap = TptVg
2
| 0+mgh, =FS = 1my,+O
Dot - - L - o k=18 kN/m J 2
b~ T, s ” 2
- 2¢9.4) 0,65N60 = UN & = 1479V
. il A
- ¢ 3 - (), ¥ i y -
“ ﬂaﬂmﬂ'ﬁﬁﬂ -2-‘ OA/(Q %1,:2",\ VB‘
\ 3 Y?E’ = 256 h"lls
F #
'N'\mgcoseo‘ 42) ¥MIDN NN A-’@_ﬁm

Yot ¢ (finvim? Datvm

(4]
| /f;"VA t20pa¢ e\

544)$INGO” 2
Lo 0 +mahy=F5 = O0+ikxc

3
Datum A@.s) (0545043 ~0.4 g,{xqm%) (0.5+%) =%(1.bx\0)x

2
$.496 +16.99% -1962 —3,924X = $00 %2

800X ~12.06b% ~6.534 =0

X = 00989 M
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